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03 A& =2 THHI 4,032 2,700 1,332
OEHIEXZAY 4,032
— ot& s X 22l At 300,000,000 *0.72/100 2,160




2N

M otzel
el SIEEY 2 SEEA (29l & 2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— NSt EX & ZY|
40,000,000& *1.08/100 432
—Xgotd EL MY
200,000,000& *0.72/100 1,440
=2 =Xl 2tel 70,000 70,000 0
< 35,000
s 35,000
401 Al HI K 201 70,000 70,000 0
< 35,000
s 35,000
01 A& HI 69,460 69,460 0
OZHIEx=AE 69,460
—LS:HsE S22 49,460,000 49,460
< 25,000
s 24,460
—L=H+=E FHl 20,000,000& 20,000
< 10,000
e 10,000
03 A& 2 THHI 540 540 0
OEHEXZAY 540
—LCEae Sxze
50,000, 000& *1.08/100 540
Aot Al 1,269,000 760,000 509,000
201 Let24d] 12,000 0 12,000
02 =24l 12,000 0 12,000
OJIotd =HI3&d 232R= 12,000
— o 3Bd 3323 400,000& 123 4,800
—3ZMN, OIZN=ES3E 3323
600,000& »12& 7,200
401 AIEHI L 2 CHYI 1,257,000 760,000 497,000
01 A& HI 1,246,904 752,944 493,960
OXgotd & M Hl 200,000, 000& 200,000
OFESA =8H3Y ZdAMY 426,904,000 426,904
OJIord =BHIZ& =3 2&clA  50,000,000& 50,000
OFA Wa&(HEXF) SAHEFHAY
40,000,000& 40,000
OS4 L2 (XX F) SAHFHAY
100,000, 000& 100,000
OB4 oA SOHEHIALY 40,000,000& 40,000
OJi0F ¥8d sHEHIALY 35,000,000 35,000
OO0tz SEd SHFHIAMY 30,000,000& 30,000
OHNM HoA SOHEHIAY 50,000,000& 50,000
ONZ SUIH(SAXNT) SAFHIALY
20,000,000& 20,000




SN HH-S(BN) - MBAY - B il HlnE2
O&Y =33 SEUIAY 35,000, 000& 35,000
Ol OLEME S22 A 10,000, 000& 10,000
Ol ZXMA(SHX ) SUHEHIAY
40,000,000& 40,000
O&It EEF(JIAIE) S HEUIAY
40,000,000& 40,000
O&tdt steld SeHEHIALY 50,000,000& 50,000
OJtgl MSHE(TBXF) SHEHIALY
50,000,000& 50,000
O 2Ud SotEH At 30,000,000& 30,000
03 Al 20 HI 10,096 7,056 3,040
OFESA =H3Y ZEAMY
430,000,000& *0.72/100 3,096
OXgstd & HMeAH 7,000,000& 7,000
ot = &l 423,000 300,000 123,000
401 Al& HI & 28I 423,000 300,000 123,000
01 A& HI 420,000 297,660 122,340
OdtE &l 200,000, 000& 200,000
O==23d ot &HUIALLY 20,000,000& 20,000
OdlBtA St EUIALY 30,000, 000& 30,000
O=24dd ot=&HHIALEY 20,000,000& 20,000
Os=X&= HA 100,000, 000& 100,000
Ogdd SF=X&ES HAHAS 50,000,000& 50,000
03 AIE 20 HI 3,000 2,340 660
OstEdHl & |=X&=2 HA 3,000,000& 3,000
ZEFA ot M F I 403,000 400,000 3,000
401 Al& I 28I 403,000 400,000 3,000
01 A& HI 400,000 397,120 2,880
OFFA St M A 200,000, 000& 200,000
ONMEESHIOl AH 200,000, 000& 200,000
03 Al 2 THHI 3,000 2,880 120
OFEFA ot MLEH ¥ MEEHOI AL
3,000,000& 3,000
A5t (BHE1A) 992,000 0 992,000
s 696,000
s 296,000
401 Al HI & 28I 992,000 0 992,000
s 696,000
s 296,000
01 A& HI 985,750 0 985,750
OCDELESEZAAEE 985,750
— OtEHE FHIAY 985,750,000 985,750
s 696,000




SN AESED
Mz oA 22
&2 oldd¥H & otE=4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 289,750
03 AlE 201 | 6,250 0 6,250
ODREUNEYG H ALY 6,250
—otBl1A HHIAFY  992,000,000& «0.63/100 6,250
NCEEEICES D 2,012,000 320,000 1,692,000
= 1,006,000
= 1,006,000
401 A& HI L 204 HI 2,012,000 320,000 1,692,000
g 1,006,000
= 1,006,000
01 Al&HI 2,004,756 317,696 1,687,060
ODREYNELYEG HANH 2,004,756
—S5& HUAY 2,004,756,000& 2,004,756
g 1,006,000
= 998,756
03 Al 201 Y| 7,244 2,304 4,940
OnEYUNEYEG HANH 7,244
—S5& HUAY
2,012,000,0002 +0.36/100 7,244
ASIETH (&=2H) 400,000 320,000 80,000
oy 200,000
= 200,000
401 AIEHIZL £ 0HY| 400,000 320,000 80,000
Fag 200,000
= 200,000
01 Al&H| 397,120 317,696 79,424
ODSEYNELEG HALY 397,120
—&=2& HYIAY 397,120,000& 397,120
Fag 200,000
= 197,120
03 AlE 21| 2,880 2,304 576
OREUNEYF H ALY 2,880
—&=2& HYIAY 400,000,000& =0.72/100 2,880
AOIEEH(YSH) 372,000 0 372,000
g 186,000
= 186,000
401 AIEHIZ 201 Y| 372,000 0 372,000
g 186,000
= 186,000
01 Al&H| 369,321 0 369, 321
ODREUNELYEG H AN 369,321
— ==& UM 369,321,000 369,321
g 186,000
= 183,321




SN AEETY

PSP 6}733'33
CHel: SIEEL U SIEEA EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

03 A& 2 0HbI 2,679 0 2,679
OZELHELEZHAIL 2,679
—gds& UMY 372,000,000& *0.72/100 2,679

S A2l 881,000 1,094,000 A 213,000

282 AH| 1,000 1,000 0

AP 22| Bl 1,000 1,000 0

OA20tE2ARARAG A BEHH

1,000,000& 1,000

A& HI L2y 880,000 1,093,000 A 213,000

Al & H| 875,000 1,082,815 N 207,815
O4otd HHl 300,000,000& 300,000
Oxdls DI=2SK 24 30,000,000& 30,000
Ogd Ot & S otAEHIALY 40,000,000& 40,000
OR A BIZT M SOFEH|ALY 40,000,000& 40,000
OJIoF 2¢4d S oHEHIAY 35,000,000& 35,000
OJI0F AAIE S OFEHIALY 30,000,000& 30,000
O2=2 S48 SoHEHIAMY 70,000,000& 70,000
MR Cleid S HEHIAY 50,000,000& 50,000
OEx 2328 SoHEHIAIY 50,000,000& 50,000
OY = S35d SoEHIAY 50,000,000& 50,000
OXZFE AEAN SOHAEHIAIE 40,000,000& 40,000
OJtgl EAHE S oHEHIAY 30,000,000& 30,000
OJtgl ArE & SOtEHIALY 20,000,000& 20,000
oY =4Ad S otEHIAY 25,000,000& 25,000
oY statd S oFAEHIALY 25,000,000 25,000
O 4X& SoHEHIAY 40,000,000& 40,000

Al & 20 HI 5,000 10,185 AN5,185
O4dtd A 5,000,000& 5,000

Moo S2=7 211,520 211,160 360

82 AH| 7,920 7,920 0

AP 22| Hl 7,920 7,920 0
Ogt+2H| 1,500,000& x4= 7| 6,000
O=2 &l 1,920,000& 1,920

o4 bl 3,600 3,240 360

=0 bl 3,600 3,240 360
Odtaz&ed gRFA 3,600,000& 3,600

A& HI 2 = T b 200,000 200,000 0

Al &l 200,000 198,560 1,440
OMHAIECHH & S227 200,000,000& 200,000

HERXNS JIsHEER 22 10,000 10,000 0
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ooy
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 10,000 10,000 0
01 Al&HI 10,000 10,000 0
OHESX 24, 58 ¥ S)4+48
10,000, 000& 10,000
YHA FHNY NBAY(BSAMEZT) 18,980 8,304 676
= 7,300
[ia 11,680
201 Let249y| 5,920 5,920 0
01 At 224l 5,920 5,920 0
Oget==EH| 1,000,000& 42 7| 4,000
Oz &l 1,920,000& 1,920
202 oidl 5,760 5,184 576
01 = LH 4 1l 5,760 5,184 576
Ootazel 2= 5,760,000 5,760
401 Al HI 2 28I 7,300 7,200 100
= 7,300
01 A& HI 7,300 7,200 100
OIHIE= A 7,300
—gda FEHIY XNEAY 7,300,000 7,300
= 7,300
IItotd RAE A (4012) 60,000 70,000 210,000
= 60,000
101 1A dl 10,000 20,000 210,000
= 10,000
04 JIZHHZ2Z2XNSE S+ 10,000 20,000 A 10,000
O=BIEXZ ALY 10,000
— 3Jtotd 22| el 10,000, 000& 10,000
= 10,000
201 Let24d] 20,000 20,000 0
= 20,000
02 8323l 20,000 20,000 0
O=BIEXZ ALY 20,000
~#d4+z¥ 3223 ¥ 20
20,000,000& 20,000
= 20,000
401 Al HI & 28I 30,000 30,000 0
= 30,000
01 A& HI 30,000 29,676 324
OZHIEx= AL 30,000
— 2JI5td A=A (40 2-2=A1&)
30,000,000& 30,000
= 30,000




SN QHSBY
M st 2e]
ool otddH & oteE4 (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
2ot SUE=ALY (4THZ Q) 1,130,000 1,030,000 100,000
= 770,000
2 360,000
101 212 8| 150,000 80,000 70,000
= 100,000
T 50,000
04 JIZtNZ22XNSE+ 150,000 80,000 70,000
O=HIExAE 150,000
— =Jtotd &e| 92y 150,000,000& 150,000
2 100,000
= 50,000
401 AIEHIZ 2 0HHI 980,000 950,000 30,000
= 670,000
[a 310,000
01 A€ dl 973,826 944,015 29,811
O=HIE2xAE 973,826
— 2ot E RAUSAS (402 2l-5td22l)
973,826,000& 973,826
=2 670,000
= 303,826
03 Al 2 CHHI 6,174 5,985 189
O=HIE XA 6,174
— 206t FAUS+AS (402 2l-ct&2el)
980,000, 000& =0.63/100 6,174
2 Usd =8H3Id ZgMeg 926,000 174,000 752,000
S 463,000
[Ea 463,000
401 AlEHIZ 208 926,000 174,000 752,000
£ 463,000
[Ea 463,000
01 A€ dl 920,167 172,747 747,420
OSHI 2 Z At 920, 167
-~ BLUTYL SHBIZLNY
920,167,000& 920,167
< 463,000
= 457,167
03 Al 2 THHI 5,833 1,253 4,580
OEHIEXAEY 5,833
—gJdUs2 sH3AXEAMY 5,833,0008 5,833
FSHHSE FAE+Ar 200,000 300,000 A100,000
401 AIEHIZ 2 I 200,000 300,000 A100,000
01 A€ HI 198,560 297,840 A 99,280
OANSYHSA |FANE=> 198,560,000& 198,560
03 Al 2 CHHI 1,440 2,160 AT20




SN QBT
M otzel
el SlEEY Y SIEEM CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONSHHBH RANE=>
200,000,000& *0.72/100 1,440
AN (22 A Z4H) 800,000 0 800,000
s 400,000
= 120,000
s 280,000
401 Al HI & 28I 800,000 0 800,000
s 400,000
= 120,000
s 280,000
01 A& HI 794,960 0 794,960
OCZELHELIA 794,960
—SUMHESI X 794,960,000 794,960
s 400,000
< 120,000
s 274,960
03 Al =2 0HHI 5,040 0 5,040
OZELTELEIA 5,040
—SZMHHSI X 5,040,000 5,040
22 st & 200,000 0 200,000
401 AIEBIZL 28I 200,000 0 200,000
01 A& Hl 198,560 0 198,560
2 st FHl (M2 =2Z) 198,560,000 198,560
03 AlE S THHI 1,440 0 1,440
O st=Ful (M2g+=2%)
00,000,000& *0.72/100 1,440
ot cl &3t 1,833,556 1,882,098 N 48,542
EREPNRull= 1,833,556 1,882,098 N 48,542
S2MAE 24 1,319,656 1,226,498 93,158
201 2Bt | 568,456 556,466 11,990
01 At 22/l 12,080 11,360 720
Ogt=gH| 8,400,000 8,400
OfIds 294 70,0003 x8H 13| 560
O= &l 3,120,000& 3,120
02 33224l 556,376 545,106 11,270
O=2223 & HA 435,840
—CCTV & 83l&d= 88,0003 3603 & *12& 380,160
—XZS&W CTVHH IS (USE JYB)
88,0003 *x203| & x12& 21,120
—CCTV &J1R23 8,000 3600 & x128 34,560
OA& ZEHl R Xl 120,536
— 2 HAE L CCTV AIAE =44
500,000& «5CH 128 30,000




2N

A 2tel 23
& CCTV SE2MAH (&)
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
—CCTV SN E= 48,570
CCTV S X E==(H2+) 729,500,000 6% 43,770
CCTV | XE=(60Hg)
160,000,000& *6%*0.5 4,800
— SEZHLAEH ANAE RS 41,966
- SEZHMAE AIAE(HW) X2+
394,400,000& 6. 5% 25,636
- SEHMAE AIAE(S/W) RRES
142,000,000& *11.5% 16,330
202 oddl 7,200 6,480 720
01 = LH o4 1l 7,200 6,480 720
OZHMUE HRF& 7,200,000 7,200
307 21201 A 744,000 663,552 80,448
05 BIZERI & 3 744,000 663,552 80,448
ORLIHRA 94| 744,000
—SEZNAH 22 2LEHSF 24|
629,088,000 629,088
— XS&W CCTVHEH LUEHRE S98l (s
H M=) 2,394,000 x4H x12& 114,912
SEZHUEH JIBAIE S48 2 B 82,900 280,000 A 197,100
405 XHoHF S HI 82,900 280,000 A 197,100
01 AL ESFH S 82,900 280,000 A 197,100
OCCTV HIAH" AlAE 2= 20,000,000 *14) 20,000
O MBI <04 11,000, 000& »24! 22,000
OlIP&CIAIAHE 2toldAs B4
40,9003 «1,000xH & 40,900
CCTV Qlet = 431,000 375,600 55,400
401 AIEHI L 20 431,000 375,600 55,400
01 A& HI 427,669 372,503 55,166
OgdHE CCTV XIS A 365,350,000 365,350
OCCTV ZZete &X 32,643,000 32,643
OCCTV 01d & 215 =7l 29,676,000 29,676
03 AlE 2 THHI 3,331 3,097 234
OYYE CCTV &XIS Al
368,000,000& *0.72/100 2,650
OCCTV ZgetlE X
33,000,000& *1.08/100 357
OCCTV 01 & 215 =34l
30,000,000& *1.08/100 324
HRas(tdsZn) 582,506 1,523,220 A940,714
HEHH XI= 582,506 1,523,220 A940,714
I3HES 582,506 1,523,220 A940,714




2N

3 yoEs(0Es2I)
S WEHH X= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
702 JISEEZS 582,506 1,523,220 A940,714
(O RWIE=RSE= 582,506 1,528,220 AN940,714
omMeted2 &2 582,506
— T REIIZ HEEY
18,250,582,000& *1/100 182,506
—Me22013 dE3 400,000,000 400,000
HE2IZH (A ESZ ) 27,400 26,800 600
Jl23&dl 27,400 26,800 600
JlE2Zl 27,400 26,800 600
201 Let2d] 11,200 11,200 0
01 At 22l 11,200 11,200 0
Oget==&H| 11,200, 000& 11,200
202 OHl 12,000 12,000 0
01 = LH YI 12,000 12,000 0
ORMSY (A, MOIU, 38 &4 )
12,000, 000& 12,000
203 ¥ S =&l 4,200 3,600 600
04 FENSEHR=TH 4,200 3,600 600
OFRN2IYSZ=AHI 4,200,000& 4,200




